Unit 7:  Who wants to be a Millionaire?

Answer Key

	$100

g = 5 
	$200

Closed circle going to the left off of 8
	$400

x > 8

	$800

x < 4


	$1500

c < 4



	$3,000

x > -6


	$6,000

w > -5


	$12,000

v < 10:


	$24,000

Multiply by the multiplicative inverse

	$50,000

Solve

d = -15




	$100,000

[image: image1.wmf]

	$200,000

j > -36


	$400,000

x > 28

	$800,000

Null set
	$1,000,000

1.5t + 4 < 13



















































































































